ECN 4890
Study Guide for Second Exam

Chapter 5
What are the two advantages of using output-based pay?  Explain.

Why is a commission rate of 100% effective at increasing worker effort?  Explain using an example.

Why is input-based pay more often used?
How does the level of the worker’s risk aversion affect the determination of pay scheme (variable vs. straight pay)?  How can straight pay (or even a draw) lead to moral hazard?  (What is moral hazard?)

You manufacture hobs. A hob is a tool used for cutting the teeth of machine parts, as of a gearwheel. 

Hob machinists (AKA “hobbits”) have been studied and found to exhibit the following labor supply behavior:

	Labor Supply of Machinists

	Hourly Wage
	Hours Worked

	0
	0

	3
	1

	9
	2

	15
	3

	21
	4

	27
	5

	33
	6

	39
	7

	45
	8

	51
	9

	57
	10

	63
	11

	69
	12

	75
	13


The table shows the wage required to get the hobbit to work a given number of hours.  The firm has 100 hobbits on the payroll and there are no other hobbits available for hire.  The firm is a price taker in its output market and hobs sell for $55 each.  A hob takes exactly one hour to produce.  The machine that is used to produce the hobbit rents for $10 per hour.

a.)
How much must the firm pay for to get a hobbit to increase his labor supply by an hour if he is currently not working?  How much must the firm may to get a hobbit to increase his labor supply by an hour after he has already worked 9 hours?  Why might these be different?

b.)
If the firm announces a wage of $45 per hour, how many hours will each hobbit work per day?  How much will the firm pay in total wages per day?  How many hobbits will be produced?  Calculate the firm’s profit at this wage.

c.)
The original CEO of the firm (Mr. Tolkien) is replaced by a new CEO (Mr. Lazear).  Lazear believes that he can make higher profits by changing the compensation scheme, but is unclear about which scheme to implement.  He has three ideas:

i.
Pay hobbits on the basis of hobs produced at $55 each.  Each hobbit may choose the number of hours that he works.

ii.
Pay nothing for anything less than 6 hobs per day.  A worker who produces at least 6 hobs receives $108 for the day, plus $45 for each hob above 6 produced.


iii.
Pay $25 per hob produced; no minimum number of hobs required.

Your job is to advise Lazear on the best choice.  Make a selection and explain why your answer is correct.  Make sure that your explanation is very specific as it will take a lot to convince Lazear which choice is best.

Chapter 6
What is human capital?  In what ways is human capital similar to physical capital?

Describe the decision process of investing in another year of education.  What should be considered?  Your answer should include a discussion of direct costs, indirect (opportunity costs), monetary returns, and non-monetary returns.
Why does the return to education fall as more education is received?  Why does the cost of schooling rise with each additional year of schooling?

How does a rise in the interest rate affect the decision to attend school?  How does age play a factor?

Describe the difference between specific and general on-the-job training.  Your answer should include who will pay for this type of training and an explanation of why.

How do earnings and job turnover differ between workers with general training and those with specific training?

A worker who has invested in training generally has an upward-sloping, concave earnings profile.  Explain why.

Chapter 7
Why might a firm want a mix of older and younger workers?  What specific talents or skills do each of these two types of workers bring?

What are the three factors that affect the optimal ratio of young to old workers?  Explain how each affects the optimal ratio.

Comment on the following:  “When firm-specific human capital is important, a firm will maximize profit by laying off workers from both ends of the age distribution first.”

What is the Age Discrimination in Employment Act?  How does this impact a firm’s layoff strategy?  What will the firm do instead?
Even if there was no Age Discrimination in Employment Act, firms may be reluctant to lay off workers in the middle of their careers.  Explain.

How does a firm determine its maximum buyout offer?  How does a worker determine his minimum buyout required?
Why might there be adverse selection when buyouts are offered?
